30201854 7 i 6 5 1 3 1 2 1
trr BILL OF WATERIAL Riv oe/zz/zowD\AnTnE:nn o0 au| REORAW TN PROE B Zizze E; : ;BK.
CATALOG NO. DESCRIPTION OUANTITY PER KT
KAU-KITI KAU-KIT2 KAU-KIT3 KAU-K1T4
KA2U UNIVERSAL TERMINAL (14 STR.-2 STR. ALUM. OR CU.) T e I i S I
KA29U UNIVERSAL TERMINAL (6 STR.-250 Kcmil ALUM. OR CU.) 4 [ i R
K2A3IU UNIVERSAL TERMINAL (TWO: 6 STR.-350 Kemil ALUM. OR CU.) |  =-------- | = -------- I
K2A40U UNIVERSAL TERMINAL (TWO: 300-800 Kemil ALUM. OR CU.) |  -------- | —------- 1 15
””””” [/4"-20 X 3/4" HEX HEAD FLANGE BOLT 8 8 R R
””””” [/4"-20 HEX. NUT WITH FLAT RIM CONICAL WASHER 8 16 R AR
””””” [/4"-20 X 2" HEX. HEAD FLANGE BOLT R 8 R R
””””” [/2"-13 X 2" HEX HEAD BOLT R R 5 1
””””” [/2"-13 X 2 /2" HEX HEAD BOLT IR AR 6 4
””””” [/2"-13 HEX NUT R Sese-e-- I \
50 FLATWASHER [/2" FLAT WASHER | smememes e 22 22
50X106 BWSS [/2" BELLEVILLE WASHER | smmemee- L mmeeme e I I
””””” HARDWARE "PLASTIC" BAG I
””””” BOX R Sese-e-- \ \
””””” LABEL R R
””””” POLY-BAG CLEAR - WHITE RED/WHITE R AR
HEX. NUT WITH FLAT RIM CONICAL WASHER
[ ]
-,
HEX. HEAD FLANGE BOLT
TYPICAL HARDWARE
TRANSFORMER LUG KITS
KAU-KIT (BAG, BOX & LABEL NOT SHOWN) TO ORDER BURNDY® PRODUCTS CALL ITEM NO N/A
CAT. NO KAUKIT- (TABLE)
NOTES : \’800’346’U4N\‘7T5ED( LSOTNADTOENSDERRY, NH) EE}E\!Q:BY ?*BO‘SVERT 7/‘7/?‘* B’"BURNW
: DSN APPVL: L LEAVITT 1/06/01
§ [::>KA’U AND K2A-U STYLE CONNECTORS ARE UL LISTED (UL 486B STANDARD) \*SOOﬁW?Agégé:KWEBEC) QTASVXP AlLND GHO/é
E AND CSA CERTIFIED. [-800-387-6487 (ALL OTHER PROVINCES) M}(T)DA,;;‘L: Ff’ROB\CHEAU 1706701 SRR ASCALE:N;EV
: FOR PRODUCT INFO: http://www.burndy. con (FHOJCT 8 — S‘DZE $D207854 A
o EL LEVEL: Released SHEET | OF 2

| 6

4 3 | 2

1



30207854 7 1 6 1 3 2 1
trr DILL OF WATERIAL e R;E\V os/zysz\AnTnEoo 00 AN FFD“W N PROE EEE 222(3)9 E;; : :BK.
CATALOG NO. DESCRIPTION OUANTITY PER 1T
KAU-KIT5 KAU-K1T6 KAU-KITT KAU-KIT8 KAU-KIT9 KAU-KITI0
KA29U <] |UNTVERSAL TERMINAL T e
KA250  <1| |UNIVERSAL TERMINAL 7 I e
KA3IU  <1| |UNIVERSAL TERMINAL | e T -
KA34U  <1| |UNIVERSAL TERMINAL | e e 3 2 | e
KA4QU  <T| |UNIVERSAL TERMINAL | e e A 16
K2A26U  <T| |UNIVERSAL TERMINAL | o s N [
KoA31U <T| |UNIVERSAL TERMINAL | o 6 | - 3| e
koaseu  <{| |UNIVERSAL TERMINAL [ e b e [ s [ s ] 3
————————— I/4" FLAT WASHER 14 6 R B R R
————————— 1/4" LOCK WASHER B 3 R B R R
————————— /4" HEX. NUT 7 3 s - s s
————————— 1/4"-20 X 1" HEX. HEAD BOLT 7 3 R B R R
————————— 5/16" - 18 X [-1/2" HEX. HEAD BOLT B 7 3 B R R
————————— 5/16" HEX. NUT B 7 3 B R R
————————— 5/16" LOCK WASHER - 14 3 - s s
————————— 5/16" FLAT WASHER B 7 6 B R R
————————— 3/8" - 16 X |-1/2" HEX. HEAD BOLT B R 6 3 R R
————————— 3/8" - 16 X 2" HEX. HEAD BOLT - s s - 9 s
————————— 3/8" HEX. NUT B R 6 B 9 R
————————— 3/8" LOCK WASHER B R 6 3 9 R
————————— 3/8" FLAT WASHER - s E 6 8 s
————————— 1/2"-13 X 2" HEX HEAD BOLT B R 2 4 3 R
————————— 1/2"-13 X 2 1/2" HEX HEAD BOLT B R | B R I3
————————— 1/2"-13 HEX NUT B R 6 | 3 I3
————————— 1/2" LOCK WASHER - s 6 4 3 I3
50 FLATWASHER /2" FLAT WASHER e e 6 26
————————— DRAWING SHEET | | | | |
————————— BOX (5" X 5" X 5") | | | | |
————————— LABEL | | | | | |
————————— UNLABELLED POLY-BAG (6" X 9") | | | | |
TRANSFORMER LUG KITS
TO ORDER BURNDY® PRODUCTS CALL ITEM NO: N/A
o [-800-346-4175 (LONDONDERRY, NH) EE%!QNEEY EAB%MJE%T(TA%‘E;/O‘
[:3>KA—U AND K2A-U STYLE CONNECTORS ARE UL LISTED (UL 4868 STANDARD) : Dsh APV T LEVITT 170670
- I L et S"BURNDY
v 2. SEE SHEET | FOR VIEWS AND TYPICAL HARDWARE . |-800-387-648T (ALL OTHER PROVINCES) ~ [MRTAPPVL: R ROBICHEAU T/08/01 - ISCALECNTS.
= FOR PRODUCT INFO: http://www.burndy.com &‘U’JEENCTTW‘;E: e S‘DZE SP207854 A
o EL LEVEL: Released SHEET 2 OF 2
8 7 | 6 | 3 2 1




